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{x: x(t),
y=y(t)

rmeiwms nenY YO cwspine
dx  X'(t)’

5N
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d’y_d (dyj(im _ Y OX()-y'()x'(t)

dx?  dxldx)  x@) X0
B8 WRMIELS R
x = a(t—sint),
y = a(l-cost)
PR E Ry = y(X) 10— B S5
ﬁg ﬂ:(a(l—cost))' _ sint _ .t
dx (a(t—sint)) 1-cost 2
t 1 ,t
O G I s B
= T = =——CSC —.
d* (at-sint)) all-cost) a2
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§5 %
— BOME

SeH A BRI, K X IETT, ERHRLS = x?

X HIRRE, AL X B AX , FH M E DS T AR A4
AS = (x+Ax)* = x,° = 2%, Ax + (Ax)’.

AS PSR 5 2X,AX (H1F8 5—8 RIOBIRE M4 2

H4y (AX) T AX BN 57/t BEAT L, 2445 X MR
SR AX IR, PR L) I 7 T TR AR 8 B AS 1T LA fol i FH 55— 323 ol
(AX [IZEAERB IS 2X AX VAR L A RIS IS S — AN 56 T AX B TE 7/ B, i 2
DL AX i K F N TE 7 T TR

X 1 Wy = F(X) A LA Xy AR U (x,) b 4 x, — Mg AX
Xo + AX €U (Xq ) I, ARV 45 5 58 21914 ity

Ay = f(x, +Ax) = f(x,).
WIRAEAEH A AK,) - 543 Ay fEFoR
Ay = A(x,)Ax +0(Ax) , (1)

DURRBREL F 7 2 X TR, K (L) AP0 5— 350 A(Xo)AX b 78 5 X, (9B, ok

dy|_, =Ax)Ax B df(x) _ =Ax)4x. (2)

X,
HisE SCAT L, BRI il S U 22— A0 T AX I Bir Jo 75 /i, 1T dy & AXCHY
s, TR A= O, Wity dy 219 E Ay gt £,
G 1 TSR B f (e X, TR A4 P B K F 08 X, 7T %, T L
@A AX) Z T T (%)

e [EM] # f AEA X, A, di)R A
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4y
2 - A+o(1).
= Aro()

R R A7
f'(xo)zAlm%zmo(mro(l)): A.
UE T f 728X, 13 AT AL
[eartk] 45 F AEm X vl s W 78 5 X FRAT BRI 22 38
Ay = f'(x,) Ax+0(4x)
FE W R B R Ay AR AX R4 (F/(Xo JAX) S AX BB RS INREZ AL,
fERX, Wk, HA

dy,_, = f'(x)ax.

ooy LA il B I 59 Bron. 2 B AR Rl X 800 2] X, + AX I, BR KUY

Ay = f(x, +AX)— f(X,)=RQ, Wit/ MZeES P AR )y
2 15 AX R R dy = £/(x,)Ax = RQ", JEH. QLr
ay-dy _ . QQ QQ a2

: y —ay ’ > dy *

lim—= = f'(x =0,

X=X  AX xeAx PR ( )xax0 RQ S ill] R ]

0 X, X+AX X

Ll f(x, )= 0 i, I|mQQ 0. sl <l

x>% RQ’
BEFT X —> X 2B Q'Q MK b RQ! F K Vi &
Py = F(X)7ER ) L TR AR f O | IR Esy = f(X)7E
| EAE— M0 X A BN A
dy=f'(x)Ax,xel, (3)
R T AX > T AT X .
BRIy = X, dy = dX = AX, AR AR IO dX AT AR R . TR
@R K H:
dy = f'(x)dx , 4)
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HIV R B 3o 45 T BB S80S AR R IR, Lt
d(x*)=ex“dx; d(sinx)=cosxdx; d(Inx)= d—):(
WMAAE @) X5 K
(=2,
TS BRI SRR S T BB 5 HAS RO IR . I, SRR . AR LAY,
ﬁﬂ‘lﬁ'\ﬂﬁ% VEN—MBFATHIREAERE L, A T e n, SATHEEEE

AT
SN Qi inpeRr Yl

MRS R AR, FRATRESLZIHE I U0 S ods Skl

1. d[u(x)£v(x)] = du(x)+ dv(x);

{6 RS A RSB SEI 4 1, T du = g'(x)dX , BFUE TS 1
dy = f'(u)du .
X 5@AEA Eraim, B@) XA X A BASER AT, 25 5y vl ek 20 AR
SO XA FUE O — R T AR
Bl 1 sky=sin®x (55
# dy=d(sinx*)=cos x’d(x*) = 2xcos x’dx
B2 sky=e"® sy,
i dy = e""®*®) d(sin(ax + b))
= ") cog(ax +b)d (ax +b)
= ae*"®*®) cog(ax + b )dx.
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= "B

TAVEERE Y = F(X) BB isr 2 dy = F/(X)dx . Hooh s i x Rl X 2 A 5 g7

. B OY FUE ) X RS 25 T BT, 84 dy s FAS X 0B
d(dy)=d(f'(x)dx)= f"(x)dx-dx = f"(x)(dx)’,
SR
d2y = f"(x)dx?, (5)

BRe S f =B

(Y dx? 2k (dx) s d2x 2 x By (d2x = 0); i d(x?) miges x2
s (d(x?) = 2xdx). AR

i, N AR N - LB s, adEd "y, )

d"y=d(d"*(y))=d(f "D(x)dx"*) = £ (x)dx".

I, SR N B R ST
%F N > 2 (%0 B SRk RS
Y BAT TR AR, TR T R B R B B R B AR T LA i,
2 xhy = F(X) 0 AR,
d?y = f"(x)dx>. (6)
X EARH Y = F(X),x = ot) b Az snt, y = (o) 8t mRE, T tm—m
oy AT LA AR
dy = f'(x)dx

Horrdx = o' (t)dt 5 Tt B s Y

!

d2y = (f(p(t)) dt? = (F(pt)'(t)) dt?

26
AR b



AEIRE A AT (G )V SR SRRy

=[N O + (o) Ohe?
= f"(x)dx? + f'(x)d x, (7)
@) 2 T3, KU —Frisr EA T RA AL
B3 wy="f(x)=sinx, x=pt)=t>. 4HELRE)FANT)KdY.
f# Hy=sint®#y =2tcost?, y"=2cost®—4t’sint?, kA (6)%
d?y = (2cost? — 4t?sint? Jt? .
Kihst, RAKX (@)
d2y = f"(x)dx? + f'(x)d *x = —sin xdx* + cos xd *x
— —sint?-(2t) dt? + cost?2dt? = (2cost? — 4t? sint? Jdt? .
(Y RIS R 1

d?y = f"(x)dx* = —sin x(2tdt)* = -4t sint?dt.

WU AR EPrNA (6]
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